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Sample Paper
Class XII
Subject- Accountancy(Set – I)
Time Allowed - 3 Hrs. 








Max. Marks - 80

General Instructions:-

1. This question paper contains two parts A & B.

2. All parts of questions should be attempted at one place.
Part A

Accounting for Not-for-Profit Organisations, Partnership Firms and Companies
Q1 Why rent paid to a partner is debited to profit & loss A/c and not to the profit & loss Appropriation A/c?














(1)

Q2 Sonu and Monu are partners in a firm. Raju is admitted for 1/6th share. Calculate new profit sharing                                                                                                                           ratio.














(1)

Q3 Give one feature each of receipts & payment account and income & expenditure account?














(1)

Q4 Is Debenture redemption reserve necessary when the debentures are to be redeemed through conversion?














(1)

Q5 A & B are partners in a firm sharing profits and losses in the ratio of their capital i.e. 2:1. Z is admitted as a new partner for 1/4th share and the new ratio is 2:1:1. After sometimes Z claims ½ of the profit which is Rs 1, 50,000. Is Z is given the profit demanded by him?













(1)
Q6 Calculate the amount to be debited to income and expenditure account for the year 2007 for salary:-

Receipts and Payments Account

for the year ending 31st December, 2007

Dr. 












Cr.
Receipts
Rs.
Payments
Rs.




By Salaries
       

 


     2006             2,000




     2007           75,000




     2008             3,000

80,000

· Salary outstanding in the beginning of the year Rs 5000

· Salary outstanding at the end of the year for 2007 is Rs 15000

(3)
Q7 Define any two of the following:
1. Call-in-arrears 

2. Share forfeited

3. Escrow account

OR
For what purpose the company can use the securities premium account? Which section applies to it?

      If Company had a balance of Rs 2, 00,000 in discount on issue of debentures account and company did                                              not want to carry off. What would company do?




















(3)

Q8 Jaiparkash associates Ltd. issued 10,000 equity share of Rs 10 each at par. The subscription is to be made as follows:
On application


Rs 5/share

On allotment


Rs 3/share

On final call


Rs 2/share

Company receives application for 50,000 shares. Company rejected applications for 30,000 shares and allotted the remaining on pro-rata basis. Excess application money is to be used on allotment and call. Give journal entries for the following.






(3)

Q9 Amit, Sumit & kirti are partners in a firm sharing profits in the ration of 2:1:1. They have omitted interest @ 10%p.a. for two years ended 31st March 2007. Their fixed capital on which interest is to be calculated was:

Amit 


Rs 50,000

Sumit 


Rs 40,000

Kirti 


Rs 35,000
Give necessary adjustment entry with working notes.






(4)

Q10 A, B & C are partners sharing profits and losses in the ratio of 4:3:2. They decided to share profits & losses in equal proportions from 1st Jan 2009. The partnership deed provides that in event of change in profit sharing ratio, the goodwill should be valued at two years’ purchase of the average profits of five years’ profits. The profits and losses of the preceding five years are:-Profits are 

2004-Rs 25,000

2005-Rs 50,000

2006-Rs 70,000

2007-Rs 40,000

2008-Rs 40,000
General reserve appearing in Balance sheet on 1st Jan 2009 is Rs 90,000. Partners decided nor to show goodwill neither to distribute the general reserve. You are required to pass a single adjustment entry for the above change.












(4)

Q11 Abc Ltd. has 3,000 10% debentures of Rs 100 each due for redemption at a premium of 10%. On March 31st, 2009. Assume that Debenture redemption reserve has a balance of Rs 90,000 on that date. Record the necessary entries at the time of redemption of debentures.




(4)

Q12 (a) Jaishree ltd. purchased a running business from Rancho ltd. for a sum of Rs 22, 50,000: payable Rs 7, 50,000 by cheque and for balance issue 9% debentures of Rs 100 each at par.
The assets and liabilities consisted of the following:

Plant & machinery


Rs 6, 00,000
Building 



Rs 4, 00,000
Bill Receivable


Rs 8, 00,000
Debtors 



Rs 5, 00,000

Creditors 



Rs 2, 50,000

Record the necessary journal entries in the books of jaishree Ltd.

         (b) What journal entries should be made in the following cases?
1. X ltd. issued 10,000 9% debenture of Rs 100 each at par, redeemable at a premium of 5%,
2. Converted Rs 40,000 debentures into 10% preference share of Rs 100 each issued at 25% premium. 
  












(3+3=6)
Q13 From the following receipts and payment account of AJ club and from the given additional information; prepare income and expenditure account for the year ending 31st Dec 2007 and the balance sheet as on that date.
Receipts and Payments Account

for the year ending 31st December, 2007

Dr. 












Cr.
Receipts
Rs.
Payments
Rs.

To Balance b/d
50,000
By Furniture
      1, 00,000 

To Subscriptions
2, 00,000
By Honorarium for coaches     18,000 

To Entrance Fees 
18,000           
By Rent
      50,000



By Balance C/D
      1, 00,000


2, 68,000

      2, 68,000
Additional Information:

(a) Capital Fund as on 1st Jan 2007 is Rs 1, 00,000

(b) Rent had been paid only for 10 months

(c) Furniture as on 31st December, 2006 was Rs. 50,000 and on 31st December, 2007 Rs. 1, 30,000. 
(d) 1/3rd of the entrance fee is to be capitalized.

(6)

Q14 A, B & C are partners sharing profits in the ratio of 3:2:1. On 31st March 2007 their balance sheer was as under:

	Liabilities
	Rs.
	Assets
	Rs.

	Capitals :
	Rs.
	
	Building
	6,00,000

	A
	2,00,000
	
	Patents
	80,000

	B
	3,00,000
	
	Advertisement Exp.
	1,20,000

	C
	5,00,000
	10,00,000
	Stock
	1,50,000

	General Reserve
	
	45,000
	Cash at Bank
	1,00,000

	Creditors
	55,000
	Debtors
	50,000

	
	
	11,00,000
	
	11,00,000


B died on 31st of December 2007, it was agreed that 
1. Goodwill of the firm is to be valued at Rs 6,00,000

2. Building be valued at Rs 8,00,000; Patents Rs 50,000; Stock Rs 1,30,000

3. For the purpose of calculating B share in profit of 2007, the profit should be taken to have accrued on the same scale as in 2006-07, which is Rs 75,000.

Prepare B capital a/c and Revaluation a/c.

(6)

Q15 XYZ ltd. issued Rs 18, 00,000 equity shares of Rs 100 each at a premium of Rs 10 per share, payable as follows:

On application


Rs 20/share

On allotment


Rs 50/share (including premium of Rs 10/share)

On first & final call

Balance

The company received applications for 30,000 shares. Company rejected application for 5,000 share and made pro-rata allotment to other applicants.
A shareholder raju who was allotted 1,800 shares fail to pay the allotment money and his shares were forfeited after allotment. Final call was made after it and all the money due were received. Then the company reissues the forfeited shares @ Rs 95/share fully paid up.

Give journal entries to record the above transactions in the books of the company.
OR
Meena ltd has an authorized capital of Rs 1 crore 12% preference shares of Rs 100 each. It offered to the public 1, 00,000 preference shares at a discount of 5% payable as follows:
On application


Rs 25/share (including discount)

On allotment


Rs 25/share

On first & final call

Balance

Applications were received for 1, 50,000 share and allotment was made as follows:
1. For 5,000 shares      -----------            Full allotment
2. For 10,000 shares    -----------          Nil

3. Remaining applicants were given pro-rata allotment
Himesh to whom 5000 shares were allotted fail to pay the allotment and call. His shares were forfeited and were subsequently reissued to sonu for Rs 95/Share fully paid up. Pass Journal entries.

(8)

Q16 J and K share profits in a business in the ratio of 5:3. They admit L into the firm for a fourth share in the profits to be contributed equally by J and K. On the date of admission, the balance sheet of J and K is as follows:

	Liabilities
	Rs.
	Assets
	Rs.

	J’s Capital
	30,000
	Machinery
	26,000

	K’s Capital
	20,000
	Furniture
	18,000

	Reserve Fund
	8,000
	Stock
	10,000

	Bank Loan
	12,000
	Debtors
	8,000

	Creditors
	2,000
	Cash
	6,000

	Workmen compensation Fund
	16,000
	Bill Receivable
	20,000

	
	88,000
	
	88,000


Terms of L admission were as follows:
· L will bring Rs 25,000 as his capital 

· Furniture is to be revalued at Rs 24,000 and the value of stock to be reduced by 20%

· Claim on account of workmen compensation fund is Rs 8,000

· Creditors are to be paid Rs 5,000 more.

· Goodwill of the firm is valued at Rs 16,000
Prepare Revaluation a/c, Partner capital a/c and the Balance Sheet after admission of L.

OR
Following is the Balance Sheet of X and Y, who share profits and losses in the ratio of 4:1, as at 31st March, 2009:

	Liabilities
	
	Amount Rs.
	Assets
	
	Amount Rs.

	Sundry Creditors
	80,000
	Bank
	
	30,000

	Outstanding Exp
	
	7,950
	Debtors
	1,00,000
	

	Mrs. X’s Loan
	18,050
	Less Provision
	10,000
	90,000

	Y’s Loan
	
	54,000
	Stock
	
	15,000

	Reserve Fund
	40,000
	Investments
	
	2,05,000

	Capital
	X
	2,00,000
	Buildings
	
	1,00,000

	
	Y
	1,00,000
	Goodwill
	
	50,000

	
	
	
	Profit and Loss A/c
	
	10,000

	
	
	5,00,000
	
	
	5,00,000


The firm was dissolved on the above date and the following arrangements were decided upon :

(i) X agreed to pay off his Wife Loan

(ii) Debtors of Rs. 5,000 proved bad.

(iii) Other assets realised - Investments at 120%; and goodwill at 60%

(iv) One of the creditors for Rs. 5,000 was paid only Rs. 3,000.

(v) Buildings were auctioned for Rs. 1, 31,000 and the auctioneer’s commission amounted to Rs. 1,000.

(vi) Y took over part of stock at Rs. 4,000 (being 20% less that the book value). Balance stock realised 50%.

(vii) Realisation expenses amounted to Rs. 2,000.

Prepare:

i) Realisation A/c

ii) Partners’ Capital accounts

iii) Bank A/c 










             (8)

Part-B

Financial Statement Analysis
Q17 X Ltd. has a Debt Equity Ratio at 3: 1. According to the management it should be maintained at 1:1. What are the two choices to do so? 

(1)

Q18 State whether cash deposited in bank will result in inflow, outflow or no flow of cash.

(1)

Q19 Interest received by a finance company is classified under which kind of activity while preparing a cash flow statement? 

(1)

Q20 Show the major headings into which the Assets side of a Company’s Balance Sheet is organised and presented as per Schedule VI Part I of the Companies Act, 1956. 

(3)
Q21 Prepare a Comparative Income Statement with the help of the following information:
Particulars 







2006 


2007

Sales 







Rs. 20, 00,000 

Rs. 30, 00,000

Gross Profit 






40% 


30%

Indirect Expenses 





50% of G.P. 

40% of G.P.

Income Tax 






50% 


50%













(4)
Q22 Following is the Balance Sheet of X Ltd. as on 31st March, 2008:
	Liabilities
	Rs.
	Assets
	Rs.

	Bills Payable
	10,00,000
	Cash
	1,00,000

	Creditors
	15,00,000
	Bills Receivable
	4,00,000

	10% Long Term Loan
	10,00,000
	Debtors
	20,00,000

	Profit & Loss A/c
	5,00,000
	Stock
	9,00,000

	Reserves
	5,00,000
	Investment
	1,00,000

	Share Capital
	10,00,000
	Fixed Assets (Net)
	20,00,000

	
	55,00,000
	
	55,00,000


The existing liquid ratio stands at 1:1. A liability of Rs. 4, 00,000 under dispute has to be paid immediately as per High Court Order

Show the effect of this order on Liquid Ratio and Current Ratio as on 31st March 08. 















(4)
Q23 From the following balance sheets of ABC Ltd., Find out cash flow statement:
Liabilities
31.3.2006        31.3.2007      Assets
       31.3.2006 
31.3.2007 


      Rs.                  Rs. 

Rs. 
      Rs.

Equity Share Capital
40,000
50,000 
Goodwill

10,000


12,000 

General Reserve
10,000
15,000 
Machinery

51,000


64,000 

Profit & Loss Account
5,000

7,000 
10% Investments

23,000


28,000 

10% Debentures
21,000
25,000 
Stock

6,000


24,500 

Sundry Creditors
9,500

10,500 
Cash and Bank

19,000


8,000 

Accumulated Depreciation





Discount on

on Machinery
9,000

13,000
Debentures
  500


    – 

Provision for tax
15,000          16,000






1, 09,500 
1, 36,500


1, 09,500


 1, 36,500
Additional Information:
· A part of the machine costing Rs 8,500 (accumulated depreciation Rs 4,500) was sold for Rs 2,500
· Dividend paid Rs 16,000

· Tax provided during the year was Rs 15,000






(6)
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